A . B . C . D . E . F
REVISIONS
SYM| ZONE| ECN, ERN NO. DATE | APPRD.
AMPHENOL PART NUMBER CONFIGURATION: D PROPOSAL serz0/06 | A.G.
UB5 — X XX — X X 1 XXXX E PROPOSAL peris/o | 7L
INFINITY PACKAGING fSPEC\AL THIS IS A CAD DRAWING. DO NOT MANUALLY REVISE.
RECEPTACLE (NOTE: ALL "M” OPTIONS ARE FOR STYLE E
STYLE WITH .062" TO .093” THICK PCB’S ONLY)
! e NO DIGIT = TRAY PACKAGING
B = R/A SMT, 2 LOCATION NO REAR COVER
AND 2 SOLDERING POSTS C = TRAY PACKAGING
E = R/A SMT, 2 LOCATION WITH REAR COVER (SHIPPED LOOSE)
AND 2 SCREW MOUNT HOLES M = TRAY PACKAGING, NO REAR COVER,
CONNECTOR TYPE M2 SCREWS INCLUDED (SHIPPED LOOSE)
04 = ax CM = TRAY PACKAGING, W/ REAR COVER,
19 — 19% M2 SCREWS INCLUDED (BOTH SHIPPED LOOSE)
E T = TAPE & REEL PACKAGING
PLATING NO REAR COVER
1 = 50u" GOLD CT = TAPE & REEL PAKAGING
2 = 30u” GOLD W/ REAR COVER (SHIPPED LOOSE)
3 = GOLD FLASH OVER MT = TAPE & REEL PAKAGING, NO REAR COVER,
PALLADIUM—NICKEL (LEAD FREE) M2 SCREWS INCLUDED (SHIPPED LOOSE)
4 = 50p”" GOLD (RoHS COMPLIANT) CMT = TAPE & REEL PAKAGING, W/ REAR COVER,
) g = ggu:j ggtg EEO:§ ggmﬂﬁm; M2 SCREWS INCLUDED (BOTH SHIPPED LOOSE)
I © L KEYING OPTION
%pF\OjNON GOLD (RoHS COMPLIANT) 0 = NO KEYING (STD)
1 = KEYING 1 & 6
0 = 2 PIECE LOCKING PLATE (SHIPPED LOOSE) 2 — KEYING 2 & 6
1 = ONE PIECE LOCKING PLATE (SHIPPED LOOSE) 3 — KEYING 3 & 5
2 = NO LOCKING PLATE 4 = KEYING 4 & 5
3 = NO LOCKING PLATE AND NO GASKET MOUNTING STYLE
LANYARD LATCH
| 1. MATERIAL:

PLASTIC HOUSING:
HIGH TEMPERATURE POLYMER, FLAMMABILITY RATING UL94V—0.
CONTACTS:

PHOSPHOR BRONZE

PLATING OPTION 1 OR 2 (50u” OR 30u” GOLD): 50u” [1.27 um] OR 30u” [0.76 um] MIN. GOLD OVER 50u” [1.27
um] MIN. NICKEL ON CONTACT MATING SURFACES. 150u” [3.81 um] MIN. TIN—=LEAD (90/10) OVER 50u” [1.27 um]
NICKEL ON CONTACT TAILS.

PLATING OPTION 3 (GOLD FLASH OVER PALLADIUM—NICKEL): 2u” [0.05 um] MIN. GOLD OVER 25u” [0.635 um] MIN.
PALLADIUM—NICKEL ON CONTACT MATING SURFACES. 0.3u” [0.007 um] MIN. GOLD OVER 1.2u” [0.03 um] MIN.
PALLADIUM—NICKEL ON CONTACT TAILS. 50u” [1.27 um] MIN. NICKEL UNDER PLATING.

PLATING OPTION 4 OR 5 (RoHS) (50u” OR 30u” GOLD): 50u” [1.27 um] OR 30u” [0.76 um] MIN. GOLD OVER 50u”
[1.27 pm] MIN. NICKEL ON CONTACT MATING SURFACES. 2u” [0.05 um] MIN. GOLD OVER 50u” [1.27 um] MIN.
NICKEL ON CONTACT TAILS.

PLATING OPTION B OR C (RoHS) (50u” OR 30u” GOLD): 50u” [1.27 um] OR 30u” [0.76 pm] MIN. GOLD OVER 50u”
[1.27 pm] MIN. NICKEL ON CONTACT MATING SURFACES. 100—150u” [2.54-3.81 um] MATTE TIN OVER 50u” [1.27
um] MIN. NICKEL ON CONTACT TAILS. r

METAL SHELL: DIE CASTING ALLOY

PLATING: 100u” [2.54 um] MIN. NICKEL OVER COPPER UNDER LAYER
GASKET: STAINLESS STEEL

LOCKING PLATE: STAINLESS STEEL DRAWN M.LONG |3b05/03/16
M2 SCREWS: STEEL WITH ZINC PLATING DESIGNED Amphenol Canada Corp .
4 CHECKED J.SI |2005/05/16 TITLE
2. TEMPERATURE RANGE: . E. APPRD. INFINITY 4X/12X RECEPTACLE, LANYARD
—40°C TO +85°C Q. A APPRO. STYLE, FIXED BOARD, RIGHT ANGLE SMT,
DWG. APPRD.
THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION AND SUCH INFORMATION ENG. REL. NO. DW\:;O%QIVLEENDSOLDER‘NG POSTS REV.
MAY NOT BE DISCLOSED TO OTHERS FOR ANY PURPOSE OR USED FOR MANUFACTURING REF‘ — A P U65 ><><>< XX/‘ ><><><>< E
PURPOSES WITHOUT WRITTEN PERMISSION FROM AMPHENOL CANADA CORP. SIMENSIONS ARE TN GODE 5N _ — —
INCHES [mm]| 03554 |scAe 27 [wr, ———— [surr. ———— [sneer 1 or 4
A B C D E F

Downloaded from Elcodis.com electronic components distributor


http://elcodis.com/

L F

REVISIONS
SYM| ZONE| ECN, ERN NO. DATE | APPRD.
D PROPOSAL ser20/06 | A.G.
E PROPOSAL aer1e/10 | 7. L.
THIS IS A CAD DRAWING. DO NOT MANUALLY REVISE,

£.005 [A%0.13]
1 .039 [1.00] 014 [0.35]
S((f(m;\ /(5;(2& (0.047 [1.20] MAX. )‘T r
n PANEL
S(zm—w\ D /S(w) (OPT?QSALP‘E%E LﬁjiK ZPELE CASKET METAL REAR COVER (OPTIONAL)
(P/N U65—404—60—P
Oh > > > > > — = ¢ & OR U65—412—60—P)
TN LTI LT LT RN NN LT O] .002+.002 [0.0540.05]
472 [12.00] | [S[.004[010]
] AR R R R 1964.004 (CONTAGTS To 3 STANDOFFS)
il ‘ [4.97+0. wo] ‘
= = o= oo o= o— o— == o— o— o= I ‘ ‘1 il ! ‘
ST 97 iy _
U
b F+002 [E40.05]— ] PCB THICKNESS .063 [1.60]
(161 [4.10] (OR .093 [2.36]) 7
F+.002 [F£0.05] 091 [2.30] | (079 [2.00])——= | l4— (OR .157 [3.99])
? UB5—BXX—XX1XXX .083 [2.10]- 071 [1.80] | | PCB
(LOCK PLATE REMOVED) (TP
UB5=BXX=XX1XXX
B
DIMENSION TABLE:
| PART NUMBER [U65—X04—XX1XXX[UB5—X12—XX1XXX
‘ A .978 [24.85] 1.923 [48.85]
L ! L B 776 [19.70] 1.720 [43.70]
m | m c 472 [12.00] 1,417 [36.00]
—.203 [5.15] : 626 [15.90] D 413 [10.50] 1.358 [34.50]
0 E 571 [14.50] 1.516 [38.50]
(079 [2.00]) 374 [9.50] F .823 [20.90] 1.768 [44.90]
T W ¢ .736 [18.70] 1.681 [42.70]
H .894 [22.70] 1.839 [46.70]
1 I K 776 [19.70] 1.720 [43.70]
i m m 1-8 m =1 — 24
n n=1-9 n=1-25
. ** REFER TO [mm] AS PRIMARY DIMENSIONS.
DRAWN M.LONG |%005/05/16
UB5—BXX=XX1XXX P - Amphenol Canada Corp
4 <LOCK PLATE REMOVED) CHECKED J. S| |2005701, e
£ PRD. INFINITY 4X/12X RECEPTACLE, LANYARD
. A APPRD. STYLE, FIXED BOARD, RIGHT ANGLE SMT,
DWG. APPRD. LOCATING /SOLDERING POSTS
THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION AND SUCH INFORMATION Y e | oG 0. =
MAY NOT BE DISCLOSED TO OTHERS FOR ANY PURPOSE OR USED FOR MANUFACTURING o P UB5—XXX—XX1XXXX | £
PURPOSES WITHOUT WRITTEN PERMISSION FROM AMPHENOL CANADA CORP. O NSTONS ARE TN GO0E 5o
INCHES [mm]‘ 03554 |scae 2/1 Jwr, ————— [surr, ———— |sneer 2 or 4

Downloaded from Elcodis.com electronic components distributor

E

F



http://elcodis.com/

. E .

REVISIONS
SYM| ZONE| ECN, ERN NO. DATE | APPRD.
D PROPOSAL serzo/06 | A.G.
£ PROPOSAL apR16/10 | Z.L.

THIS IS A CAD DRAWING. DO NOT MANUALLY REVISE|

+.005 [A+0.13]
039 [1.00] —ejl=—.014 [0.35]
S(Z(m; /2((23) (0.047 [1.20] MAX.FT ﬁ
G(n PANEL
- D ONE PIECE LOCK PLATE
S(2m—1) /S(w) (OPTIONAL 065204 21-F) W/ GASKET METAL REAR COVER (OPTIONAL)
(P/N U65—404—60—P
| ‘@ O = = o S 0 S 0= s i ;@{ OR UB5—-412—60—P)
.002+.002 [0.05%0.05]
472 [12.00] L [&2].004[0.10]
'[19571%0025] (CONTACTS TO 3 STANDOFFS)
t?t{jp — I — e — P ﬁt‘j ] 1y
2 o F+002 [F+0.05]— = J Ul VN |
083 [2.10] (161 [4.10] PCB THICKNESS .063 [1.60] |
(OR .093 [2.36])
UB5 —EXX—XX7XXX (079 [2.00D) ||| | PCB
(LOCK PLATE REMOVED) (MOUNTING THREAD)
M2.0 X 0.40 SCREW
071 [1.80]— (2) NOT SUPPLIED
UB5—EXX=XXTXXX
] (SCREW MOUNT)
}
¥
—.203 [5.15]
626 [15.90]
(079 [2.00]) 374 [9.50]
M2 X 0.4 !
(2 PLCS)
] F+.002 [F£0.05]
UB5—EXX=XX7XXX
(LOCK PLATE REMOVED) ** REFER TO [mm] AS PRIMARY DIMENSIONS.
DRAWN M.LONG gsl;ég/ﬂﬁ/vﬁ
SESonED - Amphenol| Canada Corp .
4 CHECKED .S |2005/05/16] =
| E. APPRD. INFINITY 4X /12X RECEPTACLE, LANYARD
Q. A APPRD. STYLE, FIXED BOARD, RIGHT ANGLE SMT,
WG, APPRD. LOCATING/SOLDERING POSTS
THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION AND SUCH INFORMATION NG REL MO, Swo | DRAWNG O Rev
MAY NOT BE DISCLOSED TO OTHERS FOR ANY PURPOSE OR USED FOR MANUFACTURING e A PLUBS—XXX—XX1XXXX | E
PURPOSES WITHOUT WRITTEN PERMISSION FROM AMPHENOL CANADA CORP. NSNS A COTE TS — — —
INCHES [mm]‘ 03554 |scae 2/1 [y, ————— [surr, ———— [sveer 3 or 4

Downloaded from Elcodis.com electronic components distributor

E F


http://elcodis.com/

1 H+.004 [B+0.10]
K+.004 [K£0.10]

R.012 [R0.30]
MAX. (8 PLCS)

REVISIONS
SYM | ZONE] ECN, ERN NO. DATE | APPRD.
D PROPOSAL sep20/06 | ALG.
£ PROPOSAL apris/10 | Z.L.
THIS IS A CAD DRAWING. DO NOT MANUALLY REVISE|

.281 [7.13]ﬂ‘<—«>1 KEY #2
=t

1 iz | a5 | i
,[283roo4] S S B [jg%fg%] KEY 46 L»—»P.zwo [7.88] KEY #6 L 50 [7.88]
7.20£0.10 - .

l (UB5—E12—XX11XX SHOWN) (UB5—E12—XX12XX SHOWN)
i
1 | F

RECOMMENDED PANEL CUTOUT

oo F+.002 [F£0.05}— — o

o F+.002 [E+0.05]—— &

G(n)
Sem=1) ,
s(zm_\

8.087+.002 [Q?ZQOi0.0S]

(2 PLATED THRU HOLES)

D

KEY #3 281 [7.13
W“F—T [7.13]

N I o i Y
T ! T T ! T
310 [7.88) | iy 45 310 [7.88H— | \Cidy 45

(UB5—E12—XX13XX SHOWN)

l=—=-.126 [3.20]

G(1)
S(2)
S()

+.002 +0.05
—.102F-383 [2.607000]

(UB5—E12—XX14XX SHOWN)

KEYING OPTIONS AND LOCATIONS

=

B

+.002 +0.05
-1025°905 [2,607000}

i

.232+.002 [5.90+0.05]-

.154+.002 [3.90+0.05]-

1 +.002 +0.05
2.072%-883 [”82—0‘00]

C

T

059 [1.50] | _
GROUND PITCH

.102+.002 [2.60+0.05]

.012+.001
[0.305+0.025] 1

TYP.

+.000 +0.00
-1817:502 [46070‘05]

EDGE OF P.C.B.

+0.05
[Q” '82—0.00]

2.072%

.002
.000

+.000 +0.00
2647502 6,707005]

** REFER TO [mm] AS PRIMARY DIMENSIONS.

o
DRAWN M.LONG |2005/05/16
-002 [0.08][A®)] RECOMMENDED P.C.B. LAYOUT eSonED Amphenol Canada Corp.
(COMPONENTS SIDE OF BOARD) CHECKED .51 | 2000705716
- TITLE
I E._APPRD. INFINITY 4X/12X RECEPTACLE, LANYARD
@ A APPRD. STYLE, FIXED BOARD, RIGHT ANGLE SMT,
DWG. APPRD. LOCATING/SOLDERING POSTS
THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION AND SUCH INFORMATION ETR T ie T SRAWING 45 =
MAY NOT BE DISCLOSED TO OTHERS FOR ANY PURPOSE OR USED FOR MANUFACTURING = P UB5 XXX XX1XXXX | £
PURPOSES WITHOUT WRITTEN PERMISSION FROM AMPHENOL CANADA CORP. e —
INCHES [mm]‘ 03554 |scae 2/1 [y, ———— [surr, ———— [sneer 4 oF 4

Downloaded from Elcodis.com electronic components distributor

E

F



http://elcodis.com/

